1. "KALEIDOSCOPE" V=4I &l & W% TS Alepea?

a. SCALE b. PADLOCK
PACKET d. DIESEL @O

2. 50 e fopameaer g . 4ooowélﬂé’rmmﬁmzs%q&ﬂﬁqﬁﬁssmmm

liwasi‘dqr-rf?

a. % 3550 -~ b. ¥ 3400

c. % 3600 d. %. 4000 OO
3. I AT TETE 50% X g TR G WY WGH SAAGAA FhT GRS g B 7

a. 15% b. 20%

c. 40% d. -50% @O
4. mﬁmﬁwmﬁ@?

a. 78 _ b. 101 :

c. 99 d. 100 ; @O
5. ¥ 2000 Jan. 1 AT IFAAR T F9 G 2004 Jan 1 97 HF I I8 |
© 2. 9§WER b. HIHAR

c. fafeawr ' d. THAR @RO@

6. mmmzmmmmmmmmu

e / Rear

a. A9 - AT b. T &7 - FAFA

c. HHAT - HEE d. g - g @ROO
7. a9 feguer wATEHer & A86% g ?

a. YT T FIHT ALHN TTHAYTAS TEHT A7 |

b. Frerelt T anfy wérer SrARge e A

c. g Furer T faem T g ol fad 8

d. fqafrér fewmer gaenfmdr s==emr w9 P @RO®
8. IAY wElE FT WA A5F G ?

a. WWWMLAImeWqﬁEi

b. TRl AT TAT H@AT Alpas TId 2T |

c. TR AT AT ATSHT FGHAT I |

d. T AN BT Belgium 7 74 1 PO
9. = ¥ 9Ra & fraivor e Remmarers @ wiies 2
a. HEHET @=dT b. mmﬁ

c. ety @Eq d. ZTYRTET OIOICIO)]
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1ama1$m=3x§ﬁm

9

avRr 10 7m =250 5
38. Here,

5ft.=5x12=60 inch

5 ft., 5 inch= 60 + 5 = 65 inch

65 —

% change =—fg x 100% = 8.33%.
39. 6-4=2

s4a=10 210

9-2=7

9+2=11- "1
40. 7 W S S - JHER 968 |

21 T FHER 9 20 Td HIATR

AT FeaT (WA FL0T qE] [119)




. 'Cotopaxi' Ts% HIT Fratacl

a. I-FH b. ETETHET

c. el i d. fewafesr @PO@
. e W T ST B T | '

a. TAH TG —> B9 Heled b qEeT FAETHAT — fErrEEA

c. faefear wia — faeaes d. e femmer — dreman olololo)

. mmma‘:éaﬁr@?

" a. Ethane gas

c

Methane gas

¢. Carbondioxide gas d. All of above PO
. St fqmaq?r{ [

a. * i. ¥ s

b. ﬂ?ﬁg‘{ i. fad. 9509

c. fasER iii. fr.¥. 959%

d. TEE ‘ iv. fa.d. 95

a.  a-, b-ii, c-iii, d-iv , b. a-ii, b-i, c-iv, d-iii . :

c.  a-iv, b-iii, c-ii, d-i d. ,a-iii, b-iv, c-i, d-ii OO
14. MHT [ TR D, G, J, 2, P, S,V

a 1 v ; b. M

c. N d O ®O0@
15. faguaT THEIAT [T THEI | Seribble : Write :: Stammer : ?

~a.  Walk b. Play

c. Dance d. Speak OIOICIO)
16. ich letter replaces the questions mark?

a. b. D

c. N d M @O0
17. Complete the following?

68:13::7:356

a. 216 b, 222

c. 316 d. 319 NOIOICIO)
18. (27,3) T Perdrwar ot e Bite TR |

a. (9.8 b. (722)

c. (644 d. (5.25) @O
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19.

- 20.
21.

22,

23

24,

25.

26.

o P aegs

mﬁwwwmﬁzml

a. Auree f9dr wiier wiw giafaly freers fafrg |

b AR A A @ T g FEey fiwrd P )
c. NP A WA GAYEE SUTSAers fat | :
d. WTEERE TS FEEEER S R o 4 g &
FIe : _ .

a. a,d7ed, b, c ¥l b. a,b¥el, ¢, d T
c. a,c T¥d, b,dF&Er d. a,b7ed, c, dF&
AMYEH AT R TS AEASR ol e 31 & |

a. gogded s b. T Juredr
c. wewHfT faferd d. «&AT 99IE IFHIEr
TR EATE B A ? b

a. TvEd : b. fueTe

I EE o d. T

TS PGS WA FA-HA FET S|

TR FAAT FUH G AAATHT TAHAT S5t e R |
TRRHTH TaH gy T ATfTER &1 |
TR T demaa Pt watee 9 ofy sifker waer woa 8 |
FARH THaTS! FfTH! TR WHT TSRS e |
a, bHTA b. a,b,cHA
a T d. ab,c ddd
o] SIS FHEAT T e S THEY | _
A. Apiculture — Hr B. Acoustic — gaTgSIgST
C. Sericulture — ¥ &1 D. Etymotoiog_y—mlﬂm
g (AE b. B,D
c. AB,D : d- A,B,C
FAYYH HTE I 9 S IRebeaT T Simar Mg 2
a. AMHATSS b. fergrmet ar fa=ir
c. frefear g d. ST IS
TAH TS FFEAT f=R T |

A, T<E ARG fregsst avhTs, AT, e T srEr Rtearr B g1

B. e TGy fregsst Aarerar A gon afiea fraser &
S : _
a. A%, BISE b. A5, BE®

c. AYBT I d. ATB 3 &%
ICIMOD & 19T e TS & ?

a.  93s3 fedmEw b. &9 9253 fedmw qy
c. 919%53 fedww ¢ d. 99 9R53 fedwe §

- @PO0O

@@

@00

@PO0@

@O

@O®

@RO@

@O
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27.

28.

29.

30.

31.

32.

33.

fa.d. ?ﬁ:@fmﬂﬁa@nﬁmﬁmﬁrqﬁm@aﬁaf

a. 65.1% b. 65.4%

c. . 65.9% d. 66% @O0
e TS A e T S el o, I ot

a, oG, TF b. T, SFHIER :

c. SrEhead, FHE : d. Torahe, areeferan @PO@

feguar Feremr Hiqaer mirama @1 | What is the number of straight lines in the following

figure?

a. 10 b. 12
c. 13 d. 14 : QPO@

Choose the Venn diagram which best illustrate the three given classes FURNITURE, CHAIR,
TABLE.

* 69 @) * © d‘@

_ ®O®@
Problem Figures Answer Figures 2
LN LAY

8. -b.: Co . G @OO0@

P X T T P grateatasi fre for aeTe |

In the given following questions from amongst the figure marked (a), (b), (c) and (d). Select the
one which satisfies the same conditions of placement of the dot in the figure X.

\ 7 iy
LS CoN

d.

™S\

@RPOW

£

TR TR |

Complete the pattern in fig(x) by selecting one of the figures from the four alternatives.

?

o

X a. b. c. d. ®OO®

AN

e weA (99 AU T [123]



34.

35.

36.

37.

38.

39.

40.

41.

42.

Qmmmaﬁ%ﬁ%ﬁﬁa Letter &S |

a8 b. 10 ' '
& i3 d. 11 @O
TEAHT HUTHE T HoH SIS TR |

a. mﬁ%ﬁquﬂq@,
b. fover! Ha Y- HRE 30 v 97 S5 aEE B
c. YT WIS T &5 YUH TSI SHA T2 A |

d. mﬁwwmﬁw@mq@| @O
WIS SRR gt Faw wer Wl e grte e |

i ORT G TR T, ; ii. A FIRT FEEY &

iii. TS TET 0¥ JYTE I3 AT 7T | _

a. i, ii, iii 9@ b. i, i, iii AT

c. i, i, iii TG d. i, ii W& i Toq : @O0
ST T 00%/9 Y SRAT Tera et B THRR |

a. it fomr - 9% _ b, Trsffem famm - 30 @O
c. Afem- 3 d. Hav=1 92 famren! s - I geer

T JTPR T TT 00¥ IER T F9T S THE |

a. RGNS ST FeAThl Aferad faar 39 ar |

b. ISTITHTEH T=THT AT FRIAT 4 G |

c. T AN WY AR & el gy e wE g o

d. WWW@WWWWWI @O0
et T T e i et 7er & T g |

a. YU foEm - s " b, feEdaRe - o AR e

c. HeRiF Rl - AT qER foe d. wwy Faae - wamg wewr

frem Rrem %% g stew shvar e g AG AMME TE R G WA A A

femfR waer g | .
a. 1’5’ b. gfi=g : .
c. e ' d. Ju% @OO@

mmmamwwﬁammww«mw
BT G | qaAWwT I B G 7 '

< a. T b. A
c.  9uITR d. 9l @0O0@
A R T | '

1 |23
11 |7]s
120 [ 45 |2
a. 19 ! b. 16 ;
c. 17 : d. 15 @O0
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43.

44.

45.

46.

47.

48.

49.

ﬁw&muﬁwwﬁm4wwazmm1wmmﬁﬁwﬁﬁﬁﬁo
wﬁwﬂwmﬁmwmmﬂﬁmmmwaﬁmm?

a. 30 b. 34 °
c. 36 d. 38
feguar wek 0 =fer ST a8 |
a. T ofrer wefaer ; i. WG
b. - a&-RrET HeMaer ii. e
c. SR HEaER iii. gTEATE
d. fofres wefaer iv. foasaa
AT GATRT T AU FA & 2
a. XA ' b. foe
c. HHTCH d. s9E
@ 3 famteer qere fo=r sirer freme R |
%) e i e
®) Y ii. 99
M ST ; jiii. TeT
) 9RA iv. ¥
Pree® :
a. -iii, @ -ii, T-iv, H -i b. ®-iv, @ -i, T-iii, T -ii
c.  W-iv, @ -i, T-ii, T ii d. @i, @ -i, T-iii, T -i
T F P T8 WE HU B T |
. R O AR g feres |

Wﬂb’r e getea, Moo Qe (Pomology)ﬂﬁﬁi
. wﬁmmﬁmﬁwﬁn

FE :
a. i ii WA iii TEq b. ﬂ-‘lﬁii MRIEG)
c. i, ii, iii WA ' d. i, iii 9&r ii TEA

TR eEaR qeE HYTEE Fe fahed S THe |
A, UfIeh Qg Tieel SRt faeEn vae o |

B. 95 3 TEHIU U 095 HI SUSHIYIEATET TH— T ot |
C. 3R 3i &R0 G R03Y T WSS SRFEH I B |

a. ABCEITd b. A, BHE, CTeM
c. A,CHEl, Ced d. AT, B, C ¥l
FE AR TG HYT SAE T |

a. mqﬁw@ﬁ@mn&u‘h

b. wPI fgaq a¢& a9 HigT § AT AAES 1

c. FFI faaw fa.w. 0%y W@ AATST AiEE B |
d. FE ITGEN P AATRB GHACHAT Wbl B |

@00W

@O0

@O0

@O0

@O0

@00

@PO@

AW FeAT [FAR FLOT 9] 125



50. FfeprAfeTar HiaeeHer B 8IgT ?

a. Little balance b. The sand reckener

c.  Sphere and cylinder d. Equilibrium of planes @O
ANSWERS
 E i - N ¢ ST T P G e o] PN Tl e P 9. a [10. b
1. ¢ [12. b -[13. d |14 b (15 d |16, d [17. b [18. ° 19. a [20. a
21 22 d [23. b [24. b (25 d [26. a [27. ¢ |28 T e
31 32.°b (33 a 34 d [35. ¢ [36. d [37. ¢ ‘38 39. d [40.
41 42, b [43. d [44. b 45 d [46. b |47. ¢ |a8. 49. d |[50. a
_ : IQ HINTS
2. (¢)° | 5091 HIE. 4000
4000

1aaa?r$.-57=3. 80

25% g UfS : 5. 80 T 125%

i 125

=80 700

=%. 100

<. 36 I T&IHHI 36 x 100 =T. 3600

5 (d) 50% TS SQUTSh! e
- =Ix150%=151 -
~A=151xb

4. (d) 2+3+5+7+1 1+13+17+19423=100

3 (d) 2004 Jan1 ?
—-2000'Jan |  Sunday

- 4+(D=5
v

Sunday + 5 = Fridary

Leap year 2000

14. (b)- Dok 2 P sSL Y

4. 7 10-13 16 19 22

b S e L S L S S,
+3 +3 43 +3 43 +3

L13=M
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.| 16.

T@

E+H = 5+8 = 13=M
N+A = 14+1 =15=0
HD=9+4=13=M

17

(b)

4 +4=64+4=068
5 +5=125+5=130

6 +6=216+6=222

7+7=343+7=350

18.

(©)

Here, (27,3)=(3",3)
So, (64,4) = (4°, 4)

30.

(a)

CHAIR, TABLE & (& g1 | @ 39 Furniture |

34.

(d)

B|CID[EIFI1G|H[I]|]J

LI{IM[N[O|P|Q|R|S|T

VIiw[X|Y

X|Y[zZ
11 9 A (Letter) 3K af@=s |

[l i (b2

40.

(©

N
E-—I—-w
S
1¥

East

foaTET ST SrTife e ey forem e iR et st o | ‘
{ . =itan T <fao feema® B 1

41.

(d)

42.

(b)

-, 7Y AU 3T B
1F-=1"=120 '

(=20 =45

52-32=16

43.

(d)

2. 30x4 30x1 = 120-30
=120,=30 =90
b.34x4 26x1 = 136-26
=136,=26 =110
c.36x424x1 == 144-24
=144, 24 =120
. d.38x422x1 =152-22 .
=152,=22 =130 i

qThE e [ A0 T [127]




A I FMSTE L Odd man out.

UIDKOJI0KD | :
a. b. & d. e f. @O
ﬁ'{mﬁwmmmlhﬁmaﬁrwmmgmaﬁr

a. 6 b‘7'r
c. 8 d 12 @O

feguat ﬂ'ﬁ;’,ﬁ' T “71;?11{ | Complete the following figure matrix.
oo\\ \Og \)ok

7 BNANAN
\ / ? @ ® (@ ' @@@@
mmmeﬁmwwﬁzﬁxmﬁﬁﬁmaﬁw

fer smreT afbvg 7 Select the alternatives the box that can be formed by folding the sheet
shown in figure x. '

T o090

(@) A and D only (b) C and D.only
{(c) A and.B only : (d) B and C only @OO®

fegwept o wfiaer Bt ST S0 Find the number of triangles in the given figures.

a. 10 _ b. 12 _
c. 14 d. 16 @OO@
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